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1. B RT3 two-point BVP (boundary-value problem) : -u" (x) + u(x)
=1 for 0 <x <1 with u(0)=u(1)=0 MMM + 25 I W 53 e UM TT 3 -+ &g Il LA

TR -

(a) B4 TEMABEY (order) fy 103712 AT H AR TR LA
LK K ¥ (basis functions)

(b) EPUMHTEE BSOS Ty p o FEHEM I stiffness matrix A/NERIEZITTRATL L

2. B LLF two-point BVP [#) variational formulation :
(a) —u”(x)+u(x)=£f(x) 0<x<1
w(0)=0 » u(l)=b
(b) —u”(x) +u(x) = £(x) 0<x<1
aou(0) +bou/(0) = co * aju(l) +byu'(1) =cy
3. BUALLUNBS AR
— =f 0<x<1 with u(0)=u"(0)=0 -+ u'(1)=u"(1)=0
() variational formulation : find u € V such that a(u,v) = L(v) Vv € V> W 2
DA Uil o 44

(a) a(.,.) is symmetric
(b) a(.,.) is continuous : |a(v,w)| < collv[v(wlly Vv,w eV
(c) a(.,.) is V-elliptic: |a(v,v)|>cy |v|2 Vvev

(d) L is continuous : |L(v)|<cy|v|y VvEV
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CIRVAR PPN 2 6 P

HHARTHRESHLELT tvo-point BVP M3 LM » I M TS (order) o2
Wik 1 F 4 A Gauss FESFEKEID B 43 B 5 /0 w4 % 40 (il i 43 A RE B

fffi] truncation error °

d%u

f'a(x)m+b(x)ug§+c(x)u: 1 x € (0,1)

u(0) =u(1) =0 LA EMHREL a(x) =b(x) =x c(x)=x2+1°
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. EHAE - HEZef L 0 HH master element (s,t) JEE FEE R 0 BT R O FH I R AR SRR (x,9)
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dx |J| 0t dy  |J| dt
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